Chapter 6 questions

Multiple choice:

1. A causal relationship may be inferred from the results of
a. a correlational study.

b. a true experiment or a quasi-experiment.

c. a quasi-experiment.

d. a true experiment.

2. A causal inference may be made from an experiment provided 

a. there are no uncontrolled random nuisance variables.

b. there are no uncontrolled systematic or random nuisance variables.

c. there are no confounding variables.

d. the means for the conditions differ.

3. If there was a strong negative relationship between two variables, such that people with high scores on one variable tended to have low scores on the other, this would be consistent with a correlation index of around

a. –.2 to –.4.

b. .7 to .9.

c. 0.

d. –.7 to –.9.

4. An experiment in which participants are allocated at random to one of two conditions is an example of
a. an independent groups design.

b. a quasi-experimental design.

c. a repeated measures design.

d. a pretest-posttest design.

5. When numbers are just labels for categories within a variable, you have 

a. an ordinal scale.

b. a ratio scale.

c. a nominal scale.

d. an interval scale.

6. If our data consists of a record of which of two conditions each participant scores highest in, we have

a. an independent groups design with nominal measurement.

b. a repeated measures design with nominal measurement.

c. an independent groups design with ordinal measurement.

d. a repeated measures design with ordinal measurement.

7. An estimate of a summary value for the population from which a sample is drawn is known as a
a. statistic.

b. parameter.

c. variable.

d. mean.

8. A test is parametric if 

a. the statistic calculated is stable from one sample to another.
b. it involves using a parameter of a population of scores and a particular shape of the distribution of the population of scores is assumed.

c. it is carried out on a DV measured on an interval scale.

d. it involves using a sample statistic and a particular shape of the distribution of the population of scores is assumed.

9. The two special assumptions needed for a parametric test of a difference between two conditions are

a. homogeneity of variance and a normal distribution of scores in the two populations.

b. heterogeneity of variance and a standard distribution of scores in the two populations.

c. homogeneity of variance and a standard distribution of scores in the two populations.

d. heterogeneity of variance and a normal distribution of scores in the two populations.

10. If there are modest departures from the assumptions required for a parametric test, and the probabilities associated with values of a statistic are close to correct under such departures, the test is said to be

a. fragile.

b. robust.

c. stable.

d. unstable.

True or false:

1. Selecting participants for an experiment on the basis of their pre-existing levels on an IV, such as age, will mean that a causal inference will not be possible even if a significant effect is found.

TRUE
FALSE

2. A one-sample t-test can be used to compare a single set of scores with the mean of a normative sample.

TRUE

FALSE
3. One test used to analyse repeated measures designs is a Mann–Whitney U test.

TRUE

FALSE
4. A matched pairs design is analysed in exactly the same way as a repeated measures design.

TRUE
FALSE
5. A matched pairs design will be less powerful than an independent groups design if the matching variable has a strong effect on DV scores.

TRUE
FALSE
6. Ordinal scales only arise when participants are asked to rank examples of something.

TRUE
FALSE
7. With an interval scale, it is not permissible to compute statistics such as the mean because the scale does not have a true zero.

TRUE

FALSE
8. Data on ratio scales are analysed in the same way as data on interval scales.

TRUE

FALSE
9. 80 degrees Celsius is not twice as high a temperature as 40 degrees Celsius.

TRUE

FALSE
10. A parameter is a value, such as a mean, calculated from a population of values.
TRUE

FALSE
Open-ended questions:

1. Explain what it means to say that there is a strong positive correlation between two variables.

2. How might data that are intermediate between ordinal and interval scales arise, and under what circumstances is it acceptable to analyse such data as though they were on an interval scale?

3. Explain, with an example, how it can arise that a DV may be measured in degrees Celsius, yet may only be regarded as measurement on an ordinal scale.

4. Explain why it is usually preferable to do a parametric test if that is permissible.  Given measurement on an interval scale, describe circumstances in which you would be (a) confident that a parametric test could be used, (b) uncertain whether it would be sensible to use a parametric test, and (c) confident that a parametric test should not be used.

5. Describe the sequence of decisions that need to be made when considering what statistical test to use. 

6. Which takes priority when deciding whether to use a parametric test: level of measurement or the extent to which parametric assumptions are met?  Explain the reasoning behind your answer.

Chapter 6 answers

Answers multiple choice questions

1d, 2c, 3d, 4a, 5c, 6b, 7a, 8d, 9a, 10b

Answers true or false questions

1 true, 2 true, 3 false, 4 true, 5 false, 6 false, 7 false, 8 true, 9 true, 10 true

